Tuesday, October 8, 2019 9:44 AM

 $G(f_{y})(x) = f(x) \cdot g(x)$ $= (2x - 1) \cdot (x^2 + x - 2) \quad (\text{Distribute})$ $= 2x^3 + 2x^2 - 4x - x^2 - x + 2$ $(fg)(x) = 2x^3 + x^2 - 5x + 2$ $\left(\frac{4}{g}\right)(x) = \frac{4(x)}{g(x)} = \frac{2x-1}{x^2+x-2} = \frac{2x-1}{(x+2)(x-1)}$ 2) Find the domain of f+g, f-g, fg and $\frac{1}{3}$ * The domains of f+g, f-y, fg are the same. We use the same process. Step 1: Find the domain of f and domain g. f(x) = 2x - 1. $D_{g} = (-\infty, \infty)$ (No restrictions) $g(x) = x^2 + x - 2$. $D_g = (-\infty, \infty)$ (No restrictions) Step 2: Find the intersection De A Da D1: -----0 Dg : ---- $S_{\omega}, D_{g} \cap D_{g} = (-\infty, \infty)$ Conclusion: Domain of f+g, f-g, fg is (-00,00)

Tuesday, October 8, 2019 9:56 AM

* To find the domain of $\frac{4}{2}$, we need an additional step. Step 1: (Same as previous): Find De and De Step ?: (Same as previous): Find De n De. We found this : Dp A Dy = (-00, 00) Step 3: Set g(x)=0. Solve for x and exclude there values from the domain in Step 2. $g(x) = 0 \longrightarrow x^2 + x - 2 = 0$ $\rightarrow (x+2)(x-1)=0$ - x+2=0 on x-1=0 -2 1 - 04 Domain of $\frac{1}{9} = (-\infty, -2) \cup (-2, 1) \cup (1, \infty)$ E.g. Given $f(x) = \sqrt{x-3}$ and $g(x) = \sqrt{x+1}$ (1) Find (f + g)(x) (2) Find (f+g)(3)3 Find Domain of f+g. Solution: (1) (f+g)(x) = f(x) + g(x) $(f+g)(x) = \sqrt{x-3} + \sqrt{x+1}$

Tuesday, October 8, 2019 10:10 AM

 $(2)(f+g)(3) = \sqrt{3}-3 + \sqrt{3}+1$ $= \sqrt{0} + \sqrt{4} = 0 + 2 = 2$ 3) Domain of f+g Step 1: Find domain of f and domain of g \$(x) = 1 x - 3 . Set x - 3 ≥0 ______3 De community $q(x) = \sqrt{x + 1}$. Set x + 1 > 0→ x>-1 Dg comment Step 2: Find Dp A Dg Intersection Den Dy sym spront (onclusion: Domain of f+g is: [3, as) Ob j 3: Composite functions (Composition of functions) Given functions f and g. The composition of f with g is a function. This function is denoted by fog (read as ficile g on fofg). This function is defined by the formula:

$$(f \circ g)(x) = f(g(x))$$

$$f_{\text{log}} g(x) \text{ into } f$$

$$E.g. (iven : f(x) = 3x - 4$$

$$g(x) = x^{2} - 2x + 6.$$
Find: (1)(f \circ g)(x) (2)(g \circ f)(x)
(3)(f \circ g)(x) = f(g(x))
$$f(x) = 3x^{2} - 4$$

$$g(x) = x^{2} - 2x + 6$$
So, $f(g(x)) = 3(x^{2} - 2x + 6) - 4$

$$= 3x^{2} - 6x + 18 - 4$$

$$(f \circ g)(x) = 3x^{2} - 6x + 14$$

$$(2)(g \circ f)(x) = g(f(x)) (f_{\text{log}} f(x) \text{ into } g)$$

$$g(x) = b^{2} - 2b + 6$$

$$f(x) = 3x - 4$$

Treaty, October 3, 2019 1038.M

$$g(f(x)) = (3x-4)^{2} - 2(3x-4) + 6$$

$$= (3x-4)(3x-4) - 6x + 8 + 6$$

$$= 9x^{2} - 12x - 12x + 16 - 6x + 14$$

$$g(f(x)) = 9x^{2} - 30x + 30$$

$$(c) (f - g)(1)$$
Method 1: Plug x = 1 into the formula for f - g
which we fund in part (c)

$$(f - g)(1) = 3(1)^{2} - 6(1) + 14$$

$$= 3 - 6 + 14 = 11$$
Method 2: $(f - g)(1) = f(g(1))$
Plug 1 into g and then plug what we get into f.

$$f(x) = 3x - 4$$

$$g(x) = x^{2} - 2x + 6$$

$$\rightarrow g(1) = (1)^{2} - 2(1) + 6 = 1 - 2 + 6 = 5$$

$$\rightarrow f(g(4)) = f(5) = 3(5) - 4 = 11$$

$$(d)(g - f)(1)$$
Method 1: $(g - f)(x) = 9x^{2} - 30x + 30$

Tuesday, October 8, 2019 10:40 AM

$$(g \circ f_{k}(1) = g(1)^{2} - 30(1) + 30$$

$$= g - 30 + 30 = [3]$$
Method 2: Plug 1 into f and plug what we get into g
f(x) = 3x - 4 - f(1) = 3(1) - 4 = [-1]
g(x) = x^{2} - 2x + 6
g(f(1)) = g(-1) = (-1)^{2} - 2(-1) + 6
= 1 + 2 + 6 = [9].
E.g.
Find
g(f(1)) = f(-1)^{2} - 2(-1) + 6
= 1 + 2 + 6 = [9].
Arm: [-7]